Y4 — Summer — Block 2 — Step 4 — Estimate with money Answers

Question ' Answer

a),b),c) —1 | 1

i ) i 20 2z 2kp 2o

d) 25pis the same distance from 20p and 30p.

a)
£6.05 £6.90
-
L+ | | | | | | | |
| I ekt [ | 2 1 | I I
£6 £7
£6.20 £6.55
b)
Closer to £6 Closer to £7
£6.05 £6.20 £6.55 £6.90
a) £8.09 £8.45 £8.61 £8.89
l ll | | | l | Il ] | ll |
| | | | | | | | | | |
£8 £8.50 £9

£8.61, £8.09 and £8.89 were difficult to place on the number line.
b) £8.61 and £8.89

a)
£12.25 £12.78

e
£12 £13
£12.09 £12.52
b) £12.09 and £12.25

£5+ £3 =£8
£4.85 rounded to the nearest pound is £5 and £2.70 rounded to the nearest pound is £3

a) el 22

£6 £6 £6 £1 | £1 | £1 | £1

b) No
She has £19.50, which is less than £22




Y4 — Summer — Block 2 — Step 4 — Estimate with money Answers (continued)

Question | Answer

Ron’s total Rosie’s total

7 £27 @ £24

multiple possible answers, e.g.
£21.58
£21.78
£22.16
£22.34




